YOUNG JU JEON AND CHANG IL KIM*

ABSTRACT. In this paper, we consider the generalized Hyers-Ulam stability for the following functional equation with an extra term G_f

 $f(x+y) + f(x-y) + G_f(x,y) = 2f(x) + f(y) + f(-y),$

where G_f is a functional operator of f.

1. INTRODUCTION AND PRELIMINARIES

In 1940, Ulam [12] proposed the following stability problem :

"Let G_1 be a group and G_2 a metric group with the metric d. Given a constant $\delta > 0$, does there exist a constant c > 0 such that if a mapping $f : G_1 \longrightarrow G_2$ satisfies d(f(xy), f(x)f(y)) < c for all $x, y \in G_1$, then there exists an unique homomorphism $h: G_1 \longrightarrow G_2$ with $d(f(x), h(x)) < \delta$ for all $x \in G_1$?"

In 1941, Hyers [6] answered this problem under the assumption that the groups are Banach spaces. Aoki [1] and Rassias [11] generalized the result of Hyers. Rassias [11] solved the generalized Hyers-Ulam stability of the functional inequality

$$||f(x+y) - f(x) - f(y)|| \le \epsilon(||x||^p + ||y||^p)$$

for some $\epsilon \geq 0$ and p with p < 1 and for all $x, y \in X$, where $f : X \longrightarrow Y$ is a function between Banach spaces. The paper of Rassias [11] has provided a lot of influence in the development of what we call the generalized Hyers-Ulam stability or Hyers-Ulam-Rassias stability of functional equations. A generalization of the Rassias theorem was obtained by Găvruta [5] by replacing the unbounded Cauchy difference by a general control function in the spirit of Rassis approach.

The functional equation

(1.1)
$$f(x+y) + f(x-y) = 2f(x) + 2f(y)$$

is called a quadratic functional equation and a solution of a quadratic functional equation is called quadratic. A generalized Hyers-Ulam stability problem for the quadratic functional equation was proved by Skof [10] for mappings $f: X \longrightarrow Y$, where X is a normed space and Y is a Banach space. Cholewa [2] noticed that the theorem of Skof is still true if the relevant domain X is replaced by an Abelian group. Czerwik [3] proved the generalized Hyers-Ulam stability for the quadratic functional equation and Park [9] proved the generalized Hyers-Ulam stability of the quadratic functional equation in Banach modules over a C^* -algebra.

²⁰¹⁰ Mathematics Subject Classification. 39B52, 39B82.

Key words and phrases. Hyers-Ulam Stability, Banach Space.

^{*} Corresponding author.

 $\mathbf{2}$

YOUNG JU JEON AND CHANGIL KIM

In this paper, we are interested in what kind of terms can be added to the Drygas functional equation [4]

$$f(x+y) + f(x-y) = 2f(x) + f(y) + f(-y)$$

while the generalized Hyers-Ulam stability still holds for the new functional equation. We denote the added term by $G_f(x, y)$ which can be regarded as a functional operator depending on the variables x, y, and functions f. Then the new functional equation can be written as

(1.2)
$$f(x+y) + f(x-y) + G_f(x,y) = 2f(x) + f(y) + f(-y)$$

In fact, the functional operator $G_f(x, y)$ was introduced and considered in the cases of additive, quadratic functional equations with somewhat different point of view by the authors([7], [8]).

2. Solutions of 1.2 as additive-quadratic mappings

Let X and Y be normed spacese. For given $l \in \mathbb{N}$ and any $i \in \{1, 2, \dots, l\}$, let $\sigma_i : X \times X \longrightarrow X$ be a binary operation such that

$$\sigma_i(rx, ry) = r\sigma_i(x, y)$$

for all $x, y \in X$ and all $r \in \mathbb{R}$. It is clear that $\sigma_i(0,0) = 0$. Also let $F: Y^l \longrightarrow Y$ be a linear, continuous function. For a map $f: X \longrightarrow Y$, define

$$G_f(x,y) = F(f(\sigma_1(x,y)), f(\sigma_2(x,y)), \cdots, f(\sigma_l(x,y))).$$

From now on, for any mapping $f: X \longrightarrow Y$, we deonte

$$f_o(x) = \frac{f(x) - f(-x)}{2}, \ f_e(x) = \frac{f(x) + f(-x)}{2}$$

First, we consider the following functional equation

(2.1)
$$af(x+y) + bf(x-y) - cf(y-x) \\ = (a+b)f(x) - cf(-x) + (a-c)f(y) + bf(-y)$$

for fixed real numbers a, b, c with a = b - c and $a \neq 0$. We can easily show the following lemma.

Lemma 2.1. Let $f: X \longrightarrow Y$ be a mapping. Then f satisfies (2.1) if and only if f is an additive-quadratic mapping.

Definition 2.2. The functional operator G is called *additive-quadratic* if whenever $G_h(x, y) = 0$ for all $x, y \in X$, h is an additive-quadratic mapping.

Lemma 2.3. Let $f : X \longrightarrow Y$ be a mapping satisfying (1.2) and G additvequadratic. Then the following are equivalent :

(1) f is additive-quadratic,

(2) the following equality

 $(2.2) G_f(x,y) = -G_f(y,x)$

holds for all $x, y \in X$, and

(3) there exist real numbers b, c such that $b \neq c$ and

(2.3) $bG_f(x,y) = cG_f(y,x)$

holds for all $x, y \in X$.

Proof. (1) (\Rightarrow) (2) (\Rightarrow) (3) are trivial.

(3) (\Rightarrow) (1) By (2.2), we have f(0) = 0 and by (1.2), we have

$$G_f(x,y) = 2f(x) + f(y) + f(-y) - f(x+y) - f(x-y), \text{ and } G_f(y,x) = 2f(y) + f(x) + f(-x) - f(x+y) - f(y-x)$$

for all $x, y \in X$. Hence by (2.3), we have

$$(b+c)f(x+y)+bf(x-y)-cf(y-x) = (2b+c)f(x)+cf(-x)+(b+2c)f(y)+bf(-y)$$

for all $x, y \in X$ and by Lemma 2.1, we have that f is additive-quadratic. \Box

3. The generalized Hyers-Ulam stability of (1.2)

In this section, we deal with the generalized Hyers-Ulam stability of (1.2). Throughout this paper, assume that G is additive-quadratic and the following inequalities hold

(3.1)
$$\|G_h(x,x)\| \le \|G_h(0,x)\| + \sum_{i=1}^t |b_i| \|G_h(\delta_i x,0)\| \ if \ h:odd,$$

$$\|G_h(x,x)\| \le \sum_{i=1}^r |p_i| \|G_h(0,\alpha_i x)\| + \sum_{i=1}^s |a_i| \|G_h(\lambda_i x,0)\| \text{ if } h: even$$

for some $r, s, t \in \mathbb{N} \cup \{0\}$, some real numbers $p_i, a_i, b_i, \alpha_i, \lambda_i$, and δ_i and for all $x \in X$.

Theorem 3.1. Let $\phi: X^2 \longrightarrow [0,\infty)$ be a function such that

(3.2)
$$\sum_{n=0}^{\infty} 2^{-n} \phi(2^n x, 2^n y) < \infty$$

for all $x, y \in X$. Let $f : X \longrightarrow Y$ be an odd mapping such that

(3.3)
$$||f(x+y) + f(x-y) + G_f(x,y) - 2f(x)|| \le \phi(x,y).$$

for all $x, y \in X$. Then there exists an odd mapping $A : X \longrightarrow X$ such that A satisfies (1.2) and

(3.4)
$$||A(x) - f(x)|| \le \sum_{n=0}^{\infty} 2^{-n-1} \Big[\phi(2^n x, 2^n x) + \phi(0, 2^n x) + \sum_{i=1}^{t} |b_i| \phi(2^n \delta_i x, 0) \Big].$$

for all $x \in X$. Further, if G_f satisfies (2.2), then $A : X \longrightarrow X$ is an unique additive mapping with (3.4).

Proof. By (3.3), we have

 $||G_f(x,0)|| \le \phi(x,0), ||G_f(0,x)|| \le \phi(0,x)$

for all $x, y \in X$. Setting y = x in (3.3), we have

(3.5) $||f(2x) + G_f(x,x) - 2f(x)|| \le \phi(x,x)$

for all $x \in X$. Hence by (3.1) and (3.5), we have

(3.6)
$$||f(x) - 2^{-1}f(2x)|| \le 2^{-1} \Big[\phi(x,x) + \phi(0,x) + \sum_{i=1}^{t} |b_i| \phi(\delta_i x, 0) \Big]$$

YOUNG JU JEON AND CHANGIL KIM

for all $x \in X$. By (3.6), we have

$$\begin{aligned} &\|f(x) - 2^{-n} f(2^n x)\| \\ &\leq \sum_{k=0}^{n-1} 2^{-k-1} \Big[\phi(2^k x, 2^k x) + \phi(0, 2^k x) + \sum_{i=1}^t |b_i| \phi(2^k \delta_i x, 0) \Big] \end{aligned}$$

for all $x \in X$ and all $n \in N$. For $m, n \in \mathbb{N} \cup \{0\}$ with $0 \le m < n$,

(3.7)
$$\begin{aligned} \|2^{-m}f(2^{m}x) - 2^{-n}f(2^{n}x)\| \\ &= 2^{-m}\|f(2^{m}x) - 2^{-(n-m)}f(2^{n-m}(2^{m}x))\| \\ &\leq \sum_{k=m}^{n-1} 2^{-k-1} \Big[\phi(2^{k}x, 2^{k}x) + \phi(0, 2^{k}x) + \sum_{i=1}^{t} |b_{i}|\phi(2^{k}\delta_{i}x, 0)\Big] \end{aligned}$$

for all $x \in X$. By (3.2) and (3.7), $\{2^{-n}f(2^nx)\}$ is a Cauchy sequence in Y and since Y is a Banach space, there exists a mapping $A: X \longrightarrow Y$ such that $A(x) = \lim_{n\to\infty} 2^{-n}f(2^nx)$ for all $x \in X$. By (3.7), we have (3.4).

Replacing x and y by $2^n x$ and $2^n y$ in (3.3), respectively and deviding (3.3) by 2^n , we have

$$\|2^{-n}[f(2^n(x+y)) + f(2^n(x-y)) + G_f(2^nx, 2^ny) - 2f(2^nx)]\| \le 2^{-n}\phi(2^nx, 2^ny)$$

for all $x, y \in X$ and letting $n \to \infty$, we can show that A satisfies (1.2). Since f is odd, A is odd.

Suppose that G_f satisfies (2.2). Then clearly, we can show that G_A satisfies (2.2) and hence by Lemma 2.3, A is an additive-quadratic mapping. Since A is odd, A is an additive mapping.

Now, we show the uniqueness of A. Let $E: X \longrightarrow Y$ be an additive mapping with (3.4). Since A and E are additive,

$$\begin{split} \|A(x) - E(x)\| &= \|A(2^n x) - E(2^n x)\| \\ &\leq 2^{-k} \sum_{n=0}^{\infty} 2^{-n} \Big[\phi(2^n x, 2^n x) + \phi(0, 2^n x) + \sum_{i=1}^{t} |b_i| \phi(2^n \delta_i x, 0) \Big] \end{split}$$

for all $x \in X$ and all $k \in \mathbb{N}$. Hence, letting $k \to \infty$, by (3.2), we have A = E. \Box

Similar to Theorem 3.1, we have the following theorem.

Theorem 3.2. Let $\phi: X^2 \longrightarrow [0,\infty)$ be a function such that

(3.8)
$$\sum_{n=0}^{\infty} 2^n \phi(2^{-n}x, 2^{-n}y) < \infty$$

for all $x, y \in X$. Let $f : X \longrightarrow Y$ be an odd mapping satisfying (3.3). Then there exists an odd mapping $A : X \longrightarrow X$ such that A satisfies (1.2) and

$$(3.9) ||A(x) - f(x)|| \le \sum_{n=0}^{\infty} 2^{n-1} \Big[\phi(2^{-n}x, 2^{-n}x) + \phi(0, 2^{-n}x) + \sum_{i=1}^{t} |b_i| \phi(2^{-n}\delta_i x, 0) \Big]$$

for all $x \in X$. Further, if G_f satisfies (2.2), then $A : X \longrightarrow X$ is an unique additive mapping with (3.9)

4

Proof. By (3.3), we have

$$||G_f(x,0)|| \le \phi(x,0), ||G_f(0,x)|| \le \phi(0,x)$$

for all $x, y \in X$. Setting $y = x = \frac{x}{2}$ in (3.5), we have

(3.10)
$$\left\|f(x) + G_f\left(\frac{x}{2}, \frac{x}{2}\right) - 2f\left(\frac{x}{2}\right)\right\| \le \phi\left(\frac{x}{2}, \frac{x}{2}\right)$$

for all $x \in X$. Hence by (3.1), (3.3), and (3.10), we have

(3.11)
$$\left\| f(x) - 2f\left(\frac{x}{2}\right) \right\| \le \phi(x,x) + \phi(0,x) + \sum_{i=1}^{t} |b_i| \phi(\delta_i x, 0)$$

for all $x \in X$. By (3.11), we have

$$\|f(x) - 2^n f(2^{-n}x)\| \le \sum_{k=0}^{n-1} 2^k \Big[\phi(2^{-k}x, 2^{-k}x) + \phi(0, 2^{-k}x) + \sum_{i=1}^t |b_i| \phi(2^{-k}\delta_i x, 0) \Big]$$

for all $x \in X$ and all $n \in N$. For $m, n \in \mathbb{N} \cup \{0\}$ with $0 \le m < n$,

(3.12)
$$\begin{aligned} \|2^{m}f(2^{-m}x) - 2^{n}f(2^{-n}x)\| \\ &= 2^{m}\|f(2^{-m}x) - 2^{(n-m)}f(2^{-(n-m)}(2^{-m}x))\| \\ &\leq \sum_{k=m}^{n-1} 2^{k} \Big[\phi(2^{-k}x, 2^{-k}x) + \phi(0, 2^{-k}x) + \sum_{i=1}^{t} |b_{i}|\phi(2^{-k}\delta_{i}x, 0) \Big] \end{aligned}$$

for all $x \in X$. By (3.12), $\{2^n f(2^{-n}x)\}$ is a Cauchy sequence in Y. The rest of proof is similar to Theorem 3.1.

Theorem 3.3. Let $\phi: X^2 \longrightarrow [0, \infty)$ be a function such that

(3.13)
$$\sum_{n=0}^{\infty} 2^{-2n} \phi(2^n x, 2^n y) < \infty$$

for all $x, y \in X$. Let $f : X \longrightarrow Y$ be an even mapping such that

(3.14)
$$||f(x+y) + f(x-y) + G_f(x,y) - 2f(x) - 2f(y)|| \le \phi(x,y).$$

for all $x, y \in X$. Then there exists an even mapping $Q: X \longrightarrow X$ such that (3.15)

$$\|Q(x) - f(x)\| \le \sum_{n=0}^{\infty} 2^{-2n-2} \Big[\phi(2^n x, 2^n x) + \sum_{i=1}^r |p_i| \phi(0, 2^n a_i x) + \sum_{i=1}^s |a_i| \phi(2^n \lambda_i x, 0) \Big]$$

for all $x \in X$. Further, if G_f satisfies (2.2), then $Q : X \longrightarrow Y$ is an unique quadratic mapping with (3.15)

Proof. Setting y = x in (3.14), we have

$$|2^{2}f(x) - f(2x) + G_{f}(x,x)|| \le \phi(x,x)$$

for all $x \in X$ and by (3.14), we have

$$||G_f(x,0)|| \le \phi(x,0), ||G_f(0,x)|| \le \phi(0,x)$$

YOUNG JU JEON AND CHANGIL KIM

6

for all $x \in X$. Since f is even, letting y = x in (3.14), by (3.1), we have

$$\begin{aligned} &\|f(x) - 2^{-2}f(2x)\| \\ &\leq 2^{-2} \Big[\phi(x,x) + \|G_f(x,x)\| \Big] \\ &\leq 2^{-2} \Big[\phi(x,x) + \sum_{i=1}^r |p_i| \|G_f(0,\alpha_i x)\| + \sum_{i=1}^s |a_i| \|G_f(\lambda_i x,0)\| \Big] \\ &\leq 2^{-2} \Big[\phi(x,x) + \sum_{i=1}^r |p_i| \phi(0,\alpha_i x) + \sum_{i=1}^s |a_i| \phi(\lambda_i x,0) \Big] \end{aligned}$$

for all $x \in X$. Hence we have

(3.16)
$$\|f(x) - 2^{-2n} f(2^n x)\|$$
$$\leq \sum_{k=0}^{n-1} 2^{-2k-2} \Big[\phi(2^k x, 2^k x) + \sum_{i=1}^r |p_i| \phi(0, 2^k a_i x) + \sum_{i=1}^s |a_i| \phi(2^k \lambda_i x, 0) \Big]$$

for all $x \in X$ and all $n \in N$. For $m, n \in \mathbb{N} \cup \{0\}$ with $0 \leq m < n$, by (3.16)

$$(3.17) \begin{aligned} \|2^{-2m}f(2^mx) - 2^{-2n}f(2^nx)\| \\ &= 2^{-2m} \|f(2^mx) - 2^{-2(n-m)}f(2^{n-m}(2^mx))\| \\ &\leq \sum_{k=m}^{n-1} 2^{-2k-2} \Big[\phi(2^kx, 2^kx) + \sum_{i=1}^r |p_i|\phi(0, 2^ka_ix) + \sum_{i=1}^s |a_i|\phi(2^k\lambda_ix, 0)\Big] \end{aligned}$$

for all $x \in X$. By (3.17), $\{2^{-2n}f(2^nx)\}$ is a Cauchy sequence in Y. The rest of proof is similar to Theorem 3.1.

Theorem 3.4. Let $\phi: X^2 \longrightarrow [0,\infty)$ be a function such that

(3.18)
$$\sum_{n=0}^{\infty} 2^{2n} \phi(2^{-n}x, 2^{-n}y) < \infty$$

for all $x, y \in X$. Let $f : X \longrightarrow Y$ be an even mapping satisfying (3.14). Then there exists an even mapping $Q : X \longrightarrow X$ such that (3.19)

$$\|Q(x) - f(x)\| \le \sum_{n=0}^{\infty} 2^{2n} \Big[\phi(2^{-n}x, 2^{-n}x) + \sum_{i=1}^{r} |p_i| \phi(0, 2^{-n}a_ix) + \sum_{i=1}^{s} |a_i| \phi(2^{-n}\lambda_ix, 0) \Big]$$

for all $x \in X$. Further, if G_f satisfies (2.2), then $Q : X \longrightarrow Y$ is an unique quadratic mapping with (3.19)

Proof. Setting $y = x = \frac{x}{2}$ in (3.14), we have

$$\left\|2^2 f\left(\frac{x}{2}\right) - f(x) + G_f\left(\frac{x}{2}, \frac{x}{2}\right)\right\| \le \phi\left(\frac{x}{2}, \frac{x}{2}\right)$$

for all $x \in X$. By (3.14), we have

$$||G_f(x,0)|| \le \phi(x,0), ||G_f(0,x)|| \le \phi(0,x)$$

for all $x \in X$ and so, we have

$$\begin{aligned} \left\| 2^{2} f\left(\frac{x}{2}\right) - f(x) \right\| &\leq \phi\left(\frac{x}{2}, \frac{x}{2}\right) + \left\| G_{f}\left(\frac{x}{2}, \frac{x}{2}\right) \right\| \\ &\leq \phi\left(\frac{x}{2}, \frac{x}{2}\right) + \sum_{i=1}^{r} |p_{i}| \left\| G_{f}\left(0, \alpha_{i} \frac{x}{2}\right) \right\| + \sum_{i=1}^{s} |a_{i}| \left\| G_{f}\left(\lambda_{i} \frac{x}{2}, 0\right) \right\| \\ &\leq \phi\left(\frac{x}{2}, \frac{x}{2}\right) + \sum_{i=1}^{r} |p_{i}| \phi\left(0, \alpha_{i} \frac{x}{2}\right) + \sum_{i=1}^{s} |a_{i}| \phi\left(\lambda_{i} \frac{x}{2}, 0\right) \end{aligned}$$

for all $x \in X$. Similar to Theorem 3.1, we have the result.

Theorem 3.5. Let $\phi : X^2 \longrightarrow [0, \infty)$ be a function with (3.2). Let $f : X \longrightarrow Y$ be a mapping with (3.3). Then there exists a mapping $F : X \longrightarrow X$ such that F satisfies (1.2) and

$$||F(x) - f(x)|| \leq \sum_{n=0}^{\infty} 2^{-2n-2} \Big[\phi_1(2^n x, 2^n x) + \sum_{i=1}^r |p_i| \phi_1(0, 2^n x) + \sum_{i=1}^s |a_i| \phi_1(\lambda_i 2^n x, 0) \Big] + \sum_{n=0}^{\infty} 2^{-n-1} \Big[\phi_1(2^n x, 2^n x) + \phi_1(0, 2^n x) + \sum_{i=1}^t |b_i| \phi_1(\delta_i 2^n x, 0) \Big]$$

for all $x \in X$, where $\phi_1(x, y) = \frac{1}{2} \Big[\phi(x, y) + \phi(-x, -y) \Big]$. Further, if G_f satisfies (2.2), then $F: X \longrightarrow X$ is an unique additive-quadratic mapping with (3.20)

Proof. By (3.3), we have

(3.21)
$$||f_e(x+y) + f_e(x-y) + G_{f_e}(x,y) - 2f_e(x) - 2f_e(y)|| \le \phi_1(x,y)$$

for all $x, y \in X$. By Theorem 3.3, there exists an even mapping $Q: X \longrightarrow Y$ such that $Q(x) = \lim_{n \longrightarrow \infty} 2^{-2n} f_e(2^n x)$ for all $x \in X$,

(3.22)
$$Q(x+y) + Q(x-y) + G_Q(x,y) = 2Q(x) + 2Q(y)$$

for all $x, y \in X$, and $\|Q(x) - f_{x}(x)\|$

for all $x \in X$. Similarly, there exists an odd mapping $A : X \longrightarrow Y$ such that $A(x) = \lim_{n \longrightarrow \infty} 2^{-n} f_o(2^n x)$ for all $x \in X$,

(3.24)
$$A(x+y) + A(x-y) + G_A(x,y) - 2A(x) = 0$$

for all $x, y \in X$, and

$$(3.25) ||A(x) - f_o(x)|| \le \sum_{n=0}^{\infty} 2^{-n-1} \Big[\phi_1(2^n x, 2^n x) + \phi_1(0, 2^n x) + \sum_{i=1}^t |b_i| \phi_1(2^n \delta_i x, 0) \Big]$$

for all $x \in X$.

Let F = Q+A. Since Q is even and A is odd, 2Q(y) = F(y)+F(-y) and by (3.22) and (3.24), F satisfies (1.2). Since $||F(x)-f(x)|| \le ||Q(x)-f_e(x)|| + ||A(x)-f_o(x)||$, by (3.23) and (3.25), we have (3.20).

8

YOUNG JU JEON AND CHANGIL KIM

Suppose that G_f satisfies (2.2). Then clearly, we can show that G_F satisfies (2.2) and hence by Lemma 2.3, F is an additive-quadratic mapping. The proof of the uniqueness of F is similar to Theorem 3.1.

Theorem 3.6. Let $\phi: X^2 \longrightarrow [0,\infty)$ be a function such that

$$\sum_{n=0}^{\infty} 2^n \phi(2^{-n}x, 2^{-n}y) < \infty$$

for all $x, y \in X$. Let $f : X \longrightarrow Y$ be a mapping with (3.3). Then there exist a mapping $F : X \longrightarrow X$ such that

(3.26)

$$\begin{split} &\|F(x) - f(x)\| \\ &\leq \sum_{n=0}^{\infty} 2^{2n-2} \Big[\phi_1(2^{-n}x, 2^{-n}x) + \sum_{i=1}^r |p_i| \phi_1(0, 2^{-n}x) + \sum_{i=1}^s |a_i| \phi_1(\lambda_i 2^{-n}x, 0) \Big] \\ &+ \sum_{n=0}^{\infty} 2^{n-1} \Big[\phi_1(2^{-n}x, 2^{-n}x) + \phi_1(0, 2^{-n}x) + \sum_{i=1}^t |b_i| \phi_1(\delta_i 2^{-n}x, 0) \Big] \end{split}$$

for all $x \in X$, where $\phi_1(x, y) = \frac{1}{2} \Big[\phi(x, y) + \phi(-x, -y) \Big]$. Further, if G_f satisfies (2.2), then $F: X \longrightarrow X$ is an unique additive-quadratic mapping with (3.26).

4. Applications

In this section, we illustrate how the theorems in section 3 work well for the generalized Hyers-Ulam stability of various additive-quadratic functional equations.

As examples of $\phi(x, y)$ in Theorem 3.5 and Theorem 3.6, we can take $\phi(x, y) = \epsilon(\|x\|^p \|y\|^p + \|x\|^{2p} + \|y\|^{2p})$. Then we can formulate the following theorem :

Theorem 4.1. Assume that all of the conditions in Theorem 3.1 hold and G_f satisfies (2.2). Let p be a real number with $0 . Let <math>f: X \longrightarrow Y$ be a mapping such that

 $\begin{array}{l} (4.1) \\ \|f(x+y)+f(x-y)-2f(x)-f(y)-f(-y)+G_f(x,y)\| \leq \epsilon(\|x\|^p\|y\|^p+\|x\|^{2p}+\|x\|^{2p}) \\ for \ all \ x,y \in X. \ Then \ there \ exists \ an \ unique \ additive-quadratic \ mapping \ F: X \longrightarrow Y \ such \ that \end{array}$

$$\|F(x) - f(x)\| \le \begin{cases} \Psi_1(x), & \text{if } 0$$

for all $x \in X$, where

$$\Psi_1(x) = \left[3 + \sum_{i=1}^r |p_i| + \sum_{i=1}^s |a_i| |\lambda_i|^{2p}\right] \frac{\epsilon}{4 - 4^p} \|x\|^{2p} + \left[4 + \sum_{i=1}^t |b_i| |\delta_i|^{2p}\right] \frac{\epsilon}{2 - 4^p} \|x\|^{2p}$$

and

$$\Psi_2(x) = \left[3 + \sum_{i=1}^r |p_i| + \sum_{i=1}^s |a_i| |\lambda_i|^{2p}\right] \frac{4^{p-1}\epsilon}{4^p - 4} \|x\|^{2p} + \left[4 + \sum_{i=1}^t |b_i| |\delta_i|^{2p}\right] \frac{2^{2p-1}\epsilon}{4^p - 2} \|x\|^{2p}$$

Lemma 4.2. Let G be the operator defined by

 $G_f(x,y) = f(2x+y) - f(x+2y) + f(x-y) - f(y-x) - 3f(x) + 3f(y)$ for all mapping $f: X \longrightarrow Y$. Then G is additive-quadratic.

Proof. Suppose that $G_f(x,y) = 0$ for all $x, y \in X$. Then we have f(2x + y) - f(x + 2y) + f(x - y) - f(y - x) - 3f(x) + 3f(y) = 0.(4.2)and so we have $f_e(2x+y) - f_e(x+2y) - 3f_e(x) + 3f_e(y) = 0$ (4.3)for all $x, y \in X$ and letting y = y - x in (4.3), we have $f_e(x+y) - f_e(x-2y) - 3f_e(x) + 3f_e(x-y) = 0$ (4.4)for all $x, y \in X$. Letting y = -y in (4.4), we have $f_e(x-y) - f_e(x+2y) - 3f_e(x) + 3f_e(x+y) = 0$ (4.5)for all $x, y \in X$. By (4.4) and (4.5), we have $f_e(x+2y) + f_e(x-2y) - 2f_e(x) - 8f_e(y) - 4[f_e(x+y) + f_e(x-y) - 2f_e(x) - 2f_e(y)] = 0$ for all $x, y \in X$ and so f_e is quadratic. Since f_o is an odd mapping, by (4.2), we have $f_o(2x+y) - f_o(x+2y) + 2f_o(x-y) - 3f_o(x) + 3f_o(y) = 0$ (4.6)for all $x, y \in X$ and letting y = -x - y in (4.6), we have $f_o(x-y) + f_o(x+2y) + 2f_o(2x+y) - 3f_o(x) - 3f_o(x+y) = 0$ (4.7)for all $x, y \in X$. By (4.6) and (4.7), we have $f_o(2x+y) + f_o(x-y) - 2f_o(x) + f_o(y) - f_o(x+y) = 0$ (4.8)for all $x, y \in X$ and letting y = -y in (4.10), we have $f_o(2x - y) + f_o(x + y) - 2f_o(x) - f_o(y) - f_o(x - y) = 0$ (4.9)for all $x, y \in X$. By (4.10) and (4.9), we have $f_o(2x+y) + f_o(2x-y) - 4f_o(x) = 0$ (4.10)

for all $x, y \in X$ and hence f_o is additive. Thus f is an additive-quadratic mapping.

By Lemma 2.3, Theorem 4.1, and Lemma 4.2, we have the following theorem : **Theorem 4.3.** Let $f: X \longrightarrow Y$ be a mapping such that

$$\begin{aligned} \|f(x+2y) - f(2x+y) + f(x+y) + f(y-x) + f(x) - 4f(y) - f(-y)\| \\ &\leq \epsilon(\|x\|^p \|y\|^p + \|x\|^{2p} + \|x\|^{2p}) \end{aligned}$$

for all $x, y \in X$ and some a real number p with 0 . Then there exists $an unique additive-quadratic mapping <math>F: X \longrightarrow Y$ such that

$$\|F(x) - f(x)\| \le \begin{cases} \left[\frac{3}{4-4^p} + \frac{4}{2-4^p}\right] \epsilon \|x\|^{2p}, & \text{if } 0$$

for all $x \in X$.

Proof. For a mapping $h: X \longrightarrow Y$, let $G_h(x, y) = h(2x + y) - h(x + 2y) + h(x - y) - h(y - x) - 3h(x) + 3h(y)$. By Lemma 4.2, G is additive-quadratic and f, G satisfy (4.1). Since G_f satisfies (2.2) in Lemma 2.3, by Theorem 4.1, we have the result.

YOUNG JU JEON AND CHANGIL KIM

References

- [1] T. Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan **2**(1950), 64-66.
- [2] P.W.Cholewa, Remarkes on the stability of functional equations, Aequationes Math. 27(1984), 76-86.
- [3] S. Czerwik, On the stability of the quadratic mapping in normed spaces, Bull. Abh. Math. Sem. Univ. Hamburg 62(1992), 59-64.
- [4] H. Drygas, Quasi-inner products and their applications, In : Advances in Multivariate Statistical Analysis (ed. A. K. Gupta), Reidel Publ. Co., 1987, 13–30.
- [5] P. Găvruta, A generalization of the Hyer-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 184(1994), 431-436.
- [6] D. H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci. 27(1941), 222-224.
- [7] C. I. Kim, G. Han, and J. W. Chang, Stability of the generalized version of Euler-Lagrange type quadratic equation, J. Comput. Anal. Appl. 21(2016), 156-169.
- [8] C. I. Kim, G. Han, and S. A. Shim, Hyers-Ulam Stability for a Class of Quadratic Functional Equations via a Typical Form, Abs. and Appl. Anal. 2013(2013), 1-8.
- [9] C. G. Park, On the stability of the quadratic mapping in Banach modules, J. Math. Anal. Appl. 276(2002), 135-144.
- [10] F. Skof, Proprietá locali e approssimazione di operatori, Rend. Sem. Mat. Fis. Milano 53(1983), 113-129.
- [11] Th. M. Rassias, On the stability of the linear mapping in Banach sapces, Proc. Amer. Math. Sco. 72(1978), 297-300.
- [12] S. M. Ulam, Problems in modern mathematics, Wiley, New York, 1960, Chapter VI.

Department of Mathematics Education, College of Education, Chon
Buk National University, 567 Baekje-daero, deokjin-gu, Jeonju-si, Jeollabuk-do
 54896 Republic of Korea

Email address: jyj@jbnu.ac.kr

DEPARTMENT OF MATHEMATICS EDUCATION, DANKOOK UNIVERSITY, 152, JUKJEON-RO, SUJI-GU, YONGIN-SI, GYEONGGI-DO, 16890, KOREA

Email address: kci206@hanmail.net

10